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PSY 366: Cognitive Psychology

Class Activity E

Article: Bradlow, A. R., Akahane-Yamada, R., Pisoni, D. B., & Tohkura, Y. (1999). Training Japanese listeners to identify English /r/ and /l/: Long-term retention of learning in perception and production. Perception & Psychophysics, 61, 977-985.

Please answer the following questions using complete sentences and your own words. Do NOT use direct quotes or paraphrased answers that are nearly identical to the text. Answers must by typed.

1. Briefly summarize the basic and applied rationale for the present research (e.g., its effects on theoretical understanding and training efficacy). (2 points)
2. Describe the rationale and procedure for the high variability perceptual training procedure. Why is it beneficial? (2 points)
3. Briefly describe the participants involved in the present experiment. Describe what you would have been asked to do, had you been a participant in the experiment. Be sure to include details regarding talkers, listeners, and stimuli. Name the independent variables in the experiment and their levels. Were they manipulated in a between-subjects or within-subjects manner? Name the dependent variable(s) in the study. Briefly describe how each of the variables was operationalized. (7 points)
4. Explain the pattern of results in the present study, including perceptual identification performance for Japanese speaking participants in the training and control conditions. In addition, briefly explain the pattern of results concerning long-term changes in production. What do these results indicate about the effects of training on long-term changes in performance? (3 points)
5.  Summarize the authors’ three theoretical generalizations based on the present findings. What conclusions do the authors draw regarding the nature of representations? (4 points)
6. Describe one important implication of the present findings for everyday language production and comprehension. How might variability support performance among first- and second-language learners? Please support your argument. (2 points)
